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2n( ALO,) X = %(y+2z) 2x=y+
. 2z A.B.C.D B
1 Na,0, HCl  ALO, B
Na* . AlO; .Cl™ ( AlO; Na™.AlO, .Cl”
) Na,0,.HCl ALO, n(Na") =n(Cl") +n(AlO,)
( ) - 2n( Na,0,) =n( HCI) +2n( Al,0O,) XNYaZ
A.2:2:1  B.3:3:1  C.3:4:1 D.4:6:1 2u=y+2z A.B.C.D
: 2Na,0, + 2H,0 B - B o
=—=4NaOH + 0, T (1) ; HCl + NaOH NaCl +
H,0 (2); ALO, + 2NaOH ==2NaAlO, + H,0
(3), : Na, 0, NaOH o
HCl  ALO, NaCl  NaAlO, .
Na,0,. HCI AL, 0, o Na®AlO, .CL™(
x mol.y mol.z mol AlO, )
(1) :x mol Na,O, 2 25%C 0,
2x mol NaOH; (2) :y mol HCI 25%C
y mol NaOH; (3) :zmol Al,O, NaOH
2zmol NaOH., ° ( ) o
y+2z=2x A.B.C.D A.CGH, B.CH, C.CH; D.CH
B . B .
Na.Cl. Al 25%C
1 . H,0 CO, (
n( Na,0,) = Tn( Na™) ; ) cH ?
1 1
=5 n( NaCl) + n( NaAlO,) =5 n( HCI) + CH, +(x +%) 0, —xCO, +%H20
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